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Test Review:
1. Products £ | A Chemicals are mixed and get hot. 1. Coefficient & J& Correet way to simell chemnicals
2. Exothermic 4 |B-The chemicals before the reaction. 2. ‘Wafting j B Tells you the numiber of molecules.
Physical , . - 2. Should never be combined with
cftilghge L€ When chemical bonds arebrokenand {3 aAponiacs Chlorine bleach,
new substances are formed. M ' 4
' ical . _ " Means “produces” or “creates”.
4 ‘C'l"_l‘en'uc_a,l_c LD A chemical reaction that gets cold. 4. Amow 1 . proci .
reaction t . LE” Tells you the number of atoms in a
5. Endothermic [ E The result of a chemical reaction. 5. Precipitate ¥ chernical formula.
6. Reactants > P~ Nonew chemicals are formed. 6. Subscript £ [ Whena liguid turns cloudy. Means a
: ' solid was formed.

Endothermic or Exothermic Reaction?
Two chiemicals aré mixed and get hot?
Heat goes into the reaction? Endo , hewl ﬁf‘-}‘” 4
An activated: cold pack?
Two chemicals are irixéd-and get-cold?
Combustion? £ Eire = e =t
Heat comes out of a reaction?
An activated heat pack?

b e e e fee ¢

Find the etomic masses for the Jollowing elements
A Lithium= 6:9" E. Aluminum= 249 %
B, Helium= _'4.02 ¥, Bromine= TH98
¢ Tron= 55 %% G. Utanium = 23% 103
D. Silver= Jo F.3¢ H. Nickel= ST .67

Chemical or Physical Change?
¢ _Bubbles are formed. _{? Evaporation

_P_Melting _{¥ Ripping pducis
£ Getscold £ Photosynthesis 277, vh=lt
_ & Color changes & Gets hot peacton TS
_F Boiling _€ Changes smell

£ +< Digestion _P Dissolving Sait

_C  Changes temperature. & Combustion

_? Chewing _C  Changes taste

How-meny total molecules are there?

Z :2H§O Z 2BesN, ; 3C3F4
_5 sNas 4. 4Bn = 2KOH)
How many totad cioms ave there?

& om0 ey 1% scR
150 SNag$ % 4B & 2K(OH)

Find the miolecular mass of the followitig compounds.

Cl (zX 35_3 = D rw

Li,0 (2x3)+ (% 16)=
1 +)h =30 @k

NaNOy) () x 23D+ (> (3x b=

27 vy +8T
23 4U¥ = 5 amn

Products are:on the ﬁgb'ﬁ: side of a chemical reaction.
Reactants areonthe Jo [T side of achemicil reaction.

The arrow points to the |Q coduets,

: % 60; ~»6C0O,+ 6H,0 + energy
Circle the first reactant: [5 {lose )

Nezne- the first product: C-grboﬂ Ao K e

Photosynthesis or Respiration?

B Necessary to make ATP

ECreates carbon dioxide
_p Endothermic { heeds Sonls 4

P Creates oxygen

B._Uses oxygen K Exothermic ( ket bresth)
_{? Uses carbon dioxide _R A combustion reaction

[ Uses ghicose R Produces water
P_Produces glucose Uses water

_£_Donéin animals _§_Oceurs in chloroplast

_¥ Done in plants £ Occurs in mitochondria
_© Done inall cells _¥ Uses sunlight for energy

How many-oxygen atoms on the reactant side?

Is.this_-r_egpifat'ibn: r photosynthesis? _Mﬂ?]a5§ (D2

How many hydrogen dtoms on the pro&ﬁ;:_t side? 1L~

%

What kind-of reaction isit? ¢ow busg o1

wales eneirdy

Open o@eaction’?

11 Will the mass of his products be greater than,

/ lessthan, his reactants?

(VID‘W‘W"ﬂ can £SCope)
What does this set up allow us to prove?
Lo p(: (omserl)at-\vw QF Mass

Lt
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‘Name;

Period;

1. Molecular A7 When the reactants equal the

Mass prodects,
2. Closed System B When the’reaction is closed and
gases can’t escape.
3. TheLawof L& How heavy a compound or
Conservation molecule is.
of Mass F=
o 2 iz When gases aren’t caught by the
4.  Open SystemT; experimental setup.

'E-In a closed reaction mass cannot be

5. Afomic Mass[: lost.
6. Balanced LF” The decimal numbers on the periodic
Reaction ﬁl table.

4L1+ Q, — 2Li,0 10 g of Lithium reacts with
10g+12g 2g 128 of molecolar Oxygen, how

L7 = much Lithium Oxide is produced?
prie=(Z29)

Mg+ Cly; — MgCl, 9 gof Magnesium reacts
9g + 7g 35 g with Chlorine to produce 35 g of
q e -5§ Magnesium Chleride, how much

gy Chlorine was used in the reaction?
- 5 - =
® = Z ‘

INaF + K,0 — NayO + 2KF

Using the nurnbers
given, find how much

-Write the following reaction, being sure io use the correct
oric formulas (balanced ionic compounds).
“Magnesium Bromide reacts with Lithium Oxide to produce
Magnesium Oxide and Lithium Bromide™ W 5 -

f"

My b + Lo D* o Mg O 4 L
20, Pgbe,+lipD > Mg0rli B

8 + 9z ? 11
1 g & Na;0 was produced
179 == X "’? in the reaction.
Y - ‘
9 = -

Why do we balance chemnical reactions?

To Lul Bl the baw of fonservation
of M255 [ pesctants must =

ARV
P[éclﬂ thiow zzgh_twg'ﬁv

\walu[‘fé) .

-Expmd outthese compounds. Write the following in redaction notation.
sNact= Natl T Nscl + Na O 2Becl=_beLlY Lio=_L1,0
Mg0= gD+ WO v Me0s Mgh = __Nay k8= KizSe
©W,= _OH ¥ OHR 34L,0,= Pty Dg 7H0=_Hpy O3

Type of Reaction Balance these reactions:

' Wle. wi¥ Wt
D plate Z KN+ 2 CaCrog— | CaNy+ 2 Ky(CrOyp)

U Fe+r > 0, & Fe,0s

DecD mpt? 5-1'+7-l bvi

Lom bustion

single L15p\a (heit |

Fey o4 FeyOq¢
- NHg'“) | N2+ =2 H2
NzHg e

Y NH;+ 2 0y
]\'LSH\?,

Mg+ _& Ag(NOy —

Y4 NO+ 6 HO0
NQDLT Hl-&og

| Mg(NOs2+_Z_ Ag

Ag (MDD,
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